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L= 304.32m
i=-0.40%;

KMp= 48+353.00; Hp= 65.34;
KMk= 48+657.323; Hk= 64.13

L= 28.95m
i=0.40%;

KMp= 48+657.32; Hp= 64.13;
KMk= 48+686.278; Hk= 64.24

L= 30.72m
i=-0.50%;

KMp= 48+686.28; Hp= 64.24;
KMk= 48+717.000; Hk= 64.09

L= 43.00m
i=0.45%;

KMp= 48+717.00; Hp= 64.09;
KMk= 48+760.000; Hk= 64.28

L= 87.01m
i=-0.40%;

KMp= 48+760.00; Hp= 64.28;
KMk= 48+847.014; Hk= 63.93

L= 27.99m
i=0.40%;

KMp= 48+847.01; Hp= 63.93;
KMk= 48+875.000; Hk= 64.04

L= 50.15m;
KMp= 48+353.00; KMk= 48+403.15
Xp= 5684758.44; Yp= 3588009.13
Xk= 5684722.68; Yk= 3587973.97

Prosta
KRZYWA POZIOMA

A= 100.00
L= 50.00m

Xp= 5684722.68; Yp= 3587973.97
Xk= 5684688.54; Yk= 3587937.49

Łuk poziomy
R= 200.00m; L= 116.55m; Δ= 33.3899;

Styczna (T): 59.98m
Xp= 5684688.54 ;Yp= 3587937.49;
Xśr= 5684845.44; Yśr= 3587813.47
Xk= 5684646.18;Yk= 3587830.67

KRZYWA POZIOMA
A= 77.46

L= 30.00m
Xp= 5684646.18; Yp= 3587830.67
Xk= 5684645.10; Yk= 3587800.69

L= 24.16m;
KMp= 48+599.71; KMk= 48+623.86
Xp= 5684645.10; Yp= 3587800.69
Xk= 5684644.83; Yk= 3587776.54

Prosta
KRZYWA POZIOMA

A= 86.60
L= 30.00m

Xp= 5684644.83; Yp= 3587776.54
Xk= 5684645.10; Yk= 3587746.54

Łuk poziomy
R= 250.00m; L= 10.71m; Δ= 2.4537;

Styczna (T): 5.35m
Xp= 5684645.10 ;Yp= 3587746.54;
Xśr= 5684894.80; Yśr= 3587758.76
Xk= 5684645.85;Yk= 3587735.87

KRZYWA POZIOMA
A= 111.80
L= 50.00m

Xp= 5684645.85; Yp= 3587735.87
Xk= 5684653.73; Yk= 3587686.51

L= 57.93m;
KMp= 48+714.57; KMk= 48+772.50
Xp= 5684653.73; Yp= 3587686.51
Xk= 5684664.77; Yk= 3587629.64

Prosta

L= 102.50m;
KMp= 48+772.50; KMk= 48+875.00
Xp= 5684664.77; Yp= 3587629.64
Xk= 5684685.25; Yk= 3587529.21

Prosta
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65-034 Zielona Góra, ul.Boh. Westerplatte 11

68 47 84 500,  fax: 68 47 84 502

e-mail: promost@promost.zgora.pl

NIP: 929-009-43-90

UMOWA nr ZDW-ZG-WD-85/2013 z dn. 12.04.2013r.           nr rej. 03/13 DATA:  GRUDZIEŃ 2017 r.

PROJEKTANT
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12.2017 r.
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mgr inż. Piotr Sawiak
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